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CC Algebra

Cumulative Review #4.4
Show work for all questions for full credit 

& write your answers on the lines provided!!!
(If you feel no work is needed you must explain your reasoning.)

1. A volunteer organization is planning to double the number of volunteers it uses each year.  The organization started with 5 volunteers this year.  Which function could be used to determine the number of volunteers it expects to have each year?
A. 
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1.  _______________

2. What is the average rate of change for the function g(x) = (x + 2)2 – 9 between the points 

x = 1 and x = 4?
A. –9 






B. 
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C.  9




D. 
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2.  _______________
3.  Graph the piecewise function
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4. Five times the smallest of three consecutive odd integers is seven more than twice the largest.  Find each integer.










4.  ______________
5. Kiesha sets off a model rocket from the ground.  Her brother released a helium balloon a few minutes earlier and it is at a height of 512 feet.  The balloon has been rising at a constant rate of 3 feet per second, so its height at time t is given by the function 

b(t) = 3t + 512.  The height of the rocket at time t is given by the function r(t) = –16t2 + 195t.  At what time(s) will the balloon and the rocket be at the same height?










5.  ______________
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